mathrm d'N
mathrm d p. mathrm d lambda

Ratio to CMS

mathrm d N / mathrm d p

20

18

T
[HEN
D

T

0.5

x1g600 GeV pp Jets
_| T I T I T I T I | I I T I T I T |— 9
_ — =
- 1 . 49
o Thrust A_2" (charged only) (CMS jet substructure) o
- 1=
. m CMS o E
| ---- Herwig 7.2.1 default n
— —A— Pythia 6.428 370 ] E!
— —— Pythia 8.308 default 15
— ¢ Sherpa 2.2.9 default — §
B -
- g
% P
I —
D o
e 19
¢ %
O —IR
I 1%
- 1<
t (&)
— s
N 15
L 1o
— — 2
- "o 15
M ............ P oo, JI ........... I | | I I: S
= 32
1

B —0.5
l . L . L . . l . l
0 0.5 1

thrust (charged-only)



	Contents
	Page 1


